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Uniformly Accelerated Motion

LABORATORY REPORT
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SAMPLE CALCULATIONS

1. a=2(slope)

2. SE\P= a

3. % error =

/(sinf) =
Sexp — &
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QUEST

1. The decimal place of the standard error coincides with the least significant digit and determines

the number of significant figures in the values of 7 and d. Because these are used to calculate the
they determine the number of significant figures in your value of ¢. How many
nd 4, and how many are in your experimental value of g?

experimental valueof g, h
significant figures are in your values of h a

IONS

2. Would friction tend to cause your experimental value for g to be greater or less than 9.80 m/ sec??

In which direc
State your reasoning.

tion is your error for the value for g? Could friction be the cause of your observed error?
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